1 _A#LRE

AREUZHAF GRG—EHEALL

ITEZORMH

AEMERMERURAETS

B RB

EERAT)IER

AA#BITAE

S 7% 58 228

A H 5 R

5k 501&#=

(B 431:F)

1$§®§
vy

%é]ﬂ LE-EDOBHESXIE

L

A

L & %

(

O®E

)

E1[E

52E

F 7 (i
(BithE)

EIEDOEHS
X (&%

EH 2%
(Btidd)

721015

IREIR HAEH BRIXE
ISR R ER AR B

Ki&

HASH AR
REmMHR HA FR

e

w4 EARME
REmHE AR #B

i

ABEE KXt
REHmMHE +XF B2

ki

HARHE BEIHE
REmHR WL HE|

253,348,000

EERBLIEIX KXa
RERIER N B

RI&

=E£EE KA
REMHER FF i

K1

DR XER £ F—

BHEERTE #Ast AAXE

ki&

HAS WAER
REMHE BH Eth

267,700,000

“rAR FTEE
REMmAR RF B

i

275.330,000| REL B4 IAATHE

KRR wA &

278,682,800

(B&ELDEE]
¥ ffi4e )& HERRESOSETRH
2 TARSBIE AHESRHEL - ENFLLBECHBRIKEZD S TR
3 TEHNEHIT. AHLELNRBL - ZHNFLLED1000110/CHH4 T 22 BCHERAADLLE) T

1




72101

2 ZHBEE (BA:M)
ZHOMFAHAOD I #
R £ % A8 B BEXETBEME|Z2HEHE — IE% 05 R = % B =
v & m " FE A
£ B B|# A B
MIER L=7480m
£REI A=6276.3m2
Bin s RIEL L=1309.7m
SHM7E58268 278,682,800 & MiER% [sfsweAne | LHhixih #pR|EEL L=544m
®/-Ahs BREKE# T V=3900.6m3
BEBET 1=99.6m
XE#HI L=1873.1m
T E #®% 0O I #
T EEZHA %Eﬁ%ﬁﬁ == mI%%(D%Ffr T = % B = £ = 2] =]
HB#% A B
0
BHERBATHRESIL73HFH2
HAEH BRAIHEE T B & 0o I # '
T ERZHA z‘iiﬁﬁﬁ EAES ﬁk:t%%o)t%ﬁﬁ I = % i 3 % = i 2
RERFEE X H/ a g A A
— it KITH
0]
B & 0o I #
EFEZH A iﬁﬁﬁg 7= mI-%%o)iaFﬁ I = %= i3 Ed %= 3 2 2]
Jc
Hl&# A B
0
B % 0 I 8
T EZHA %Eﬁ%ﬁg 7= mI%%@%Fﬁ T = % B = xE Ed H B
Bl B B
0

[EHEDEE]
MEERHEE, SORHBLOBRBLEHEL. ORNICEEFEOZHNEERRT 2.




